04.2021

	DAIKIN DUCTLESS DISPLAYS

	Please see the assembly instruction PDF for photos of the Display Structure.
	[image: ]
	[image: cid:image006.png@01D427E4.DF185E90]

	DPM-DDISPLAY
Ductless Display Structure Only
	DPM-PANELGEN
Generic Split System Panel Only
	DPM-PANELEMURA
EMURA Split System Panel Only

	$375.00 (each)
	$110.00 (each)
	$110.00 (each)

	IMPORTANT NOTES AND HOW TO ORDER:

	· To place an order, customers will need to submit the request via their CSR as they would normally submit an order. 
· For questions, please email OrderServices@goodmanmfg.com 
· One “DPM-DDISPLAY” item will be needed for every “PANEL” item ordered.
· Indoor and outdoor units are not included in these displays. 
· There are indoor unit shells available for the EMURA (silver and matte white options). Shell prices will be provided by CSR upon request.
· EMURA Shell Numbers:
· FTXG20LSE
· FTXG20LWE

The assembly instructions can be viewed here:








image3.emf
Daikin Assembly  Instructions 012717-1-2.pdf


Daikin Assembly Instructions 012717-1-2.pdf


Attention Retailer:  


You may have an existing display and this Back Wall Graphic Panel can be used to retro-fit your 
existing display.  Remove the existing hardware from the current display and exchange Back Wall 
Graphic Panels and secure by using the same hardware.  


Optional:


Working units can be displayed on this retro-fitted display.  Should this be done, the simulated units 
on the Back Wall Graphic Panel should be removed.  These are attached with removable double 
sided tape and some machine screws pass through these as well.  Remove the machine screws and 
then lift the simulated units off the back wall.


Depending on the working units being displayed on this retro-fitted display, new holes may need to 
be drilled into the base assembly to match up with the foot pads on the lower outdoor unit.  Place the 
lower outdoor unit on the base assembly, mark and drill holes accordingly to match up with the foot 
pads.  Using the existing locator pins from the current display, reattach these from the bottom side in 
the newly drilled holes using the same hardware that was removed to move them.  Be sure the lower 
unit in installed prior to hanging the upper unit.


New holes may also need to be drilled into the Tubular Cross Brace Support to mount the upper 
indoor unit.  Center the mounting bracket, which is provided with the working unit on the Back Wall 
Graphic Panel and drill accordingly into the Tubular Cross Brace Support.  Included with this retro-fit 
graphic are (2) #10 x 1” sheet metal screws and (2) fender washers.  To secure with this hardware, a 
5/32” drill bit should be used to drill the holes.  If you plan to secure with other non-provided 
hardware, use an appropriately sized drill bit.   Secure the indoor upper unit to the bracket as 
indicated by the instructions provided with the working unit.


For Complete Display Assembly Instructions, Turn the Page


If you have any questions, please call:


Black River Display Group (419) 524.2000


Retrofit Graphic Option


If you have any questions, please call:


Black River Display Group (419) 524.2000


Retrofit Graphic Option


 1 1/31/2017







EACH DISPLAY CONTAINS:


Carton 1 of 2
(1)  Lower LH Upright Leg (#600705)
(1)  Lower RH Upright Leg (#600706)
(1)  Upper LH Upright Leg (#600707)
(1)  Upper RH Upright Leg (#600708)
(1)  Tubular Cross Brace Support (#600758)
(2)  24” long Metal Connector Bracket (#700522)
(2)  Locator Pin (#700523)
(1)  Base Platform (#971759)
(8)  #8 x 5/8” Zinc Sheet Metal Screw (#940058)  
(4)  ¼-20 Black Floor Leveling Foot (#940086)
(14)  ¼-20 x ¾” Zinc Machine Screw (#940239)
(4)  5/16-18 x 2” Zinc Machine Screw (#940107)
(4)  ¼-20 x 1 ½” Zinc Machine Screw (#940263)
(4)  Fender Washer (#940430)
(2)  ¼-20 Wing Nut (#940180)
(1)  8 ½” x 11” Clear Acrylic Literature Pocket w/Tape (#981139)


Carton 2 of 2
(1) Hinged Back Wall Graphic Panel w/Simulated
Printed Appliques (Pre-Assembled)


Lower Back Wall Graphic (#954629)
Upper Back Wall Graphic (#954630)
Simulated Outdoor Graphic (#954653)
Simulated Remote Control (#954652)
Simulated Indoor Graphic (#954651)


Fig. 2


 


     Note: Please read through all the instructions prior to assembling.
If possible, assemble fixture in area it will stay.


1. Find the (4) ¼-20 Black Floor Leveling Feet (#940086) 
and screw them into the bottom of the Lower LH Upright 
Leg (#600705) and Lower RH Upright Leg (#600706) as 
shown in Figure 1.


           Fig. 1
 2. Lay out the upright legs as 
shown in Figure 2.  Match up the 
Lower LH Upright Leg (#600705) 
with the Upper LH Upright Leg 
(#600707) and the same with the 
Lower RH Upright Leg (#600706) 
with the Upper RH Upright Leg 
(#600708), along with the (2) 24” 
long Metal Connector Brackets 
(#700522).


If you have any questions, please call:


Black River Display Group (419) 524.2000


Assembly Instructions for Daikin Free-Standing 
Split System Display


and
Retrofit Graphic Option


 2 1/31/2017







Fig. 5


Fig. 6


    Fig. 9


  
 


 


7. Secure the Hinged Back 
Wall Graphic Panel to the 
frame using (6) ¼-20 x ¾” 
Zinc Machine Screws 
(#940239).  Be sure to start 
all machine screws and then 
fully tighten once all are 
started.  See Figure 9.


                Fig. 10


8. Stand display 
upright.  See Figure 10.


3. Place the Metal Connector Bracket (#700522) under both 
halves of the Upright Legs and fasten them together using (4) ¼-
20 x ¾” Zinc Machine Screws (#940239) and (2) #8 x 5/8” Zinc 
Sheet Metal Screws (#940058).  When installing the screws, be 
sure to get all of them started into the holes before tightening.  
Reference Figures 3 and 4.  Once all are started tighten.


       Fig. 3


4. Lay out the LH and RH Upright Assemblies with the 
Tubular Cross Brace Support (#600758) in between the 
uprights.  Be sure the threaded holes are facing up.  See 
Figure 5.


Fig. 4


Fig. 7


6. With the frame assembly still laying down, 
unfold the pre-assembled Hinged Back Wall 
Graphic Panel and lay over the top of the 
frame.  See Figure 8.
             Fig. 8


5.  Attach the components together using (4) 5/16-18 x 2” Zinc Machine Screws 
(#940107).  Again, start all machine screws and then fully tighten once all are started.  
See Figures 6 and 7.


If you have any questions, please call:


Black River Display Group (419) 524.2000


 3 1/31/2017







Fig. 12


Fig. 13


Fig. 14


 


10. Locate the Clear Acrylic Literature Pocket 
(#981139) and attach it to the 
Back Wall Graphic Panel.  To help 
with alignment, place the top of the Literature 
Pocket with the seam in 
the Back Wall Graphic Panel.  See 
Figure 13.


Optional:


11.  Working units can be displayed on this display.  Should this be done, the simulated units on the 
Back Wall Graphic Panel should be removed.  These are attached with removable double sided 
tape and some machine screws pass through these as well.  Remove the machine screws and then 
lift the simulated units off the back wall.


12. Depending on which model is being displayed, there are multiple holes in the Base Platform for 
the installing the Locator Pins (#700523).  Measure the spacing of the foot pads on the outside unit 
to determine which holes need to be utilized.  Once determined, lay the display back down and from 
the underneath side of the Base Platform screw the Locator Pins into the proper holes using a #8 x 
5/8” Zinc Sheet Metal Screw (#940058) for each.  See Figure 14.


13. Stand the display back upright and place the foot pads over the previously installed Locator Pins 
and secure the unit using a Fender Washer (#940430) and ¼-20 Wing Nut (#940180) for each.  Be 
sure the lower unit is installed prior to hanging the upper unit.


14. Using the mounting plate that comes with the indoor unit, secure the plate to the display utilizing 
the Machine Screws that also hold on the Back Wall Graphic Panel.


 Fig. 11


9. Place the Base Platform (#971759) over the exposed upright assembly and align the four slotted 
holes with the pre-installed inserts in the tubular legs.  Secure the platform to the legs with (4) ¼-20 
x 1 ½” Zinc Machine Screws (#940263).  For ease of assembly, start all machine screws and then 
fully tighten once all are started.  See Figures 11 and 12.


If you have any questions, please call:


Black River Display Group (419) 524.2000


 4 1/31/2017






image1.png




image2.png
B

Today the Airis Perfect. Inside

Form.
Function.

Redesigned





